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ECO-02 : ACCOUNTANCY-I

Time : 2 Hours Maximum Marks : 50

Note : Attempt any four questions. Question no. 1 is

compulsory.

1. (a) What do you mean by Trial Balance ? 4

(b) From the following balances prepare a

Trial Balance : 10
Particulars 4
Drawings 2,000
General Expenses 4,740
Buildings 20,000

P.T.O.




[2] ECO-02

Stock 16,540
Wages 8,515
Debtors 6,280
Creditors 2,500
Bad Debts 550
Loan to Ravi 7,880
Sales 68,000
Purchases 40,000
Bank Overdraft 10,000
Capital ?

Explain advantages and limitations of

accounting. 6+6

Explain various types of errors which are
usually committed in the process of accounting.

Give suitable examples. 12

What are the differences between Receipts and
Payments  Account and Income and

Expenditure Account ? 6+6
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5. Journalise the following transactions in the

book of Pradeep :
April,
2023
1 Pradeep started business

12
15
25
26

with cash

Paid into Bank

Cash Sales

Cash Purchases

Paid Salaries

Paid Rent

Closing Stock on hand

Paid Cash to Mohan ¥ 3,000
and received discount of

% 100

12

2,00,000

70,000
30,000
20,000
15,000
5,000

2,000

6. Deepa and Eshwari entered into a joint venture

to purchase stationeries and supply them to

colleges. They agreed to share profits in the

ratio of 5 : 3 and to maintain books of accounts

P.T.O.
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for the joint venture under Memorandum Joint

Venture method.

Deepa and Eshwari purchased stationaries for
T 6,00,000 and 4,50,000 respectively and sold
them for ¥ 7,50,000 and 5,25,000 respectively.
Selling expenses incurred by them are ¥ 35,000
and ¥ 25,000 respectively. No goods remained
unsold and the final amount is settled by a

cheque.

Prepare necessary accounts in the books of

Deepa. 12
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16,540
8,515
6,280
2,500
550
7,880
68,000
40,000

10,000

2. WWIRT & A TG HHIST hl U HIfST| 6+6

3. A™ihd &l Uear H 9H=E: 8F dret fafa=

JhR Hi FfA i AT HiGQ| ITIH 3@

S|

12

4, Wit 3R SPIAE I 9 Mg Ud o9 @il o

FN AR T ?

12
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5. frefafad =esrl & fau 9o =1 gwi |

sHa wfafteat s 12

T,

2023 7
1 @9 3 Yohg R AR 2,00,000

Bt RERIT

3 o o S fey 70,000
5 T foshl 30,000
7 T%e FY 20,000
12 a9 e 15,000
15 fgen fean 5,000
25  my § sy @Al 2,000

26 HEq &l T 3,000 TH3 T
TS T 100 hl © I <hi
6. LI U TN H WINN TWIH T 3IH
Helforneral H 3gfd & o fau §g%a qey o
wow fRaml 3 @9 AT 5 ;3 H AU H A

P.T.O.
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